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1. Which of following is incorrect abouyt Boyle’s Law?

2. If we increase 1°C of gas having volum
e 1092 cm? at 0°C, th
A) double of 1092 cm® E1T of B4 E:m3e new volu;ne of gas become:
, 273 \
B) 1094 cm ' , D) 1096 cm3 %;%XM:‘{
3. Ideal gas resemble with non-ideal if: e
A) a & b are small - orb
k : ; oth &
B) a large& b small j D)a smaall&8? tl)alfrze
4. f\\)t hig}: Ctjemperature & low pressure gas become:
ideal due to presence of attraction C) no}me id
. ' ' eal due to presenc i
‘,B)/gzal due to absence of attraction D) non ideal due to agsence sfzfﬂ?:::?iztrlmon

All of the follm.vin.g factors do not affect vapour pressure of a liquid EXCEPT:
A) Amount of l.lqu.ld Size of liquid molecules .
B) Volume of liquid D) Surface area

6. Correct order of boiling points of the given liquids is: 2012
A) H20 > HF > HCl > NH3 ‘9}’%[20>HF>NH3>HC1

B) HF > H20 > HCI > NH3 D) HF > H20 > NH3 > HCl
7. The. diffusion of gases at absolute zero will be:

\Ao/unchanged C) slightly increased

B) slightly decreased : D) zero -
8. If 1/V is plotted on X-axis and pressure on Y-axis at constant temperature, what should appear?

A) hyperbola @étfaight line

__+'B) parabola D) curve

9. . Which one is the correct value for R?

A) 0.0821cm3atmk-'mol-! 2§ 0.0821dm3atmk'mol-!

D) 0.0821m?*atmk-'mol-!

B) 0.0821dm3torr'mol-!
A straight line parallel to the pressure axis is obtained when a graph is plotted between:

10.
A) pressure on x-axis and volume on the y-axis

B) reciprocal of volume on x-axis and pressure on the y-axis
C) volume on x-axis and pressure on the y-axis
pressure on x-axis and product of P.V on y-axis
11. Which one of the following do not correctly represent ideal gas equation?
A) PV =nRT c)P_n
RT V

T = nR/PV D)n=PVIRT

12.  What will be the numerical value of ‘R’ when its unit is Nm mol'K1?
C) 62400

A) 1.987 .
BY6.313 D) 0.0821
Which one of the following statement is true about Hz and O at

A) both have same masses

S.T.P. for their 1 dm?3?

13.
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14,

15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25,

26.

27.

28.

B) both have same number of molecules and same masses
C) bgth have same masses but different number of molecules
D) both have same number of molecules but different masses

Consider the following statements for gases:
I. Gases do not have a definite volume
IL. Gases can diffuse and effuse
IIL. Gases have the proparties of contraction and expansion
IV. Qascs do not have a definite shape
Which of the statements is/are correct?
g) IIIonlly C) ILand I1I
'V\I)hicﬁno)r;e f the followi 2 1 L and IV
: o—ze ollowing correctly represent kinetic equation?
A PV ==mC o prr=L,nG
3
1 =2
B) PV =— 1 5
W i i 4
w()%eor;one of the following gases show morg)c:fwatmn from ideal behaviour?
B) N2 , D) Hze
If pressure remains constant as what te : :
compared 1o volume ot g A Mperature the volume of an ideal gas is double as
A) -273°C Pv=mRT
) vef2730C
B) 273K Dysec o T W T
Which one is not true for evaporation? A \ﬂ;
g)(sﬁ-fe_zce phenomenon €Yyexothermic process P2
continuous process D) cause cooling D 5"7 5
. T
Which one of the following does not show hydrogen bonding? ¥
A) water & ethyl alcohol chloroform molecules - \>-
B) phenol & water D) acetone & chloroform ke
: N6
The density of water at 4°C may be: ’Y P
A) equal to that of ice C)greater than that of ice 3
B) less than that of ice D) all are possible <Yb -2
Steam causes more severe burn than theboiling water because it possesses: P
A) latent heat of fusion latent heat of vaporization g 18 7
B) latent heat of sublimation D) latent heat of freezing
Formation of vapours from the surface of a liquid is called:
A) vapourization ‘ \2J evaporation
B) condensation D) cracking
When water freezes at 0°C its density decreases due to: ,
A) change of bond angles ' C) cubic structure of ice

pty space present in the structure of ice D) change of bond length

C) temperature

Xaa}our pressure is not affected by:
> D) effected by all parameters

urface area
B) intermolecular forces

Which one of the following hydride has higlga)s‘:bsoiling point?
20€

A)
\B%:(S) D) HaoTe HBY

i following statement is not true? _
‘/I\\ghBlcllg :fn:IBorfig}:ss than HSIJ C) B.P of HF is greater than HBr

is areater than HBr, HF
B) B.P of HCI is lesser than HBr DYBP of HClis g

: . . cetone and_g_h]m_oform?
Which type of attractive force is present beév;lz?nomd dipole forces

A) dipole-dipole forces 4
B) instantarfeous dipole induced dipole forces ) iydrogen bonding

What aboyt the solubility of hydrocarbons ig)H;aci)thially s itls
g;’%zi?uﬂgls wbls D) soluble at high temperature
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34,

35.

36.

37.

38.

39.

40.

41,

42,

43.

44,

) then bo

-point of | )
9090 glycerine js:

D) 680 torr
ilin

2
: the externa| Pressure shoy)q be:
D) between 1400 torr to 1600 torr

C) above 1000c
Ethanol is much m b

ore solypje ) at all temperatyre
statementg Correctly account fonr ‘t";’:}tg’r than is ethy| ethanoate which one of the following
A) ethanol js Polar molecyeg bu S7

B) sthanol is non-p

t ethyl ethanoate s non-polar
/C)a hydrogen bon
e

olar molecyle but ethy] [
ehtanoate is |
d forms, betwe ( on

molecuyl en the H-atom of the —OH group in ethano| ang O-atom of a water
D) a hydrogen bond s f
or L .

molecules med between the H atom of the -OH group in ethanol ang hydrogen of 5 water
Which one of following i
moléculess owing Intermolecular forces present between both polar and non-polar

Debye forces C) ion-di
B) London forces ) ipole forces

> D) dipole-dipole forces
Hyd.rogen bon.dlng Is the electrostatic force of attraction between:
A) highly negative atom ang

_ tc partial positive H-atom
B) l'!ghly electroposm\{e atom and a partial negative H-atom
\thlghly electronegative atom and a partial positive hydrogen atom

D) highly negative atom and partial positive H-atom

Which of the following pair of molecules has only London dis
A) Ethanol and water molecules
B) Two hydrogen flouride molecules
The six parameters of any unit cell includes:
A) two unit cell lengths and four unit cells angles
B) four unit cells lengths and tow unit cell angles
Q%?ee unit cell angles and three unit cell lengths
D) five unit cell lengths and one unit cell angle

persion forces?
C) Two Propanone molecules

'wo butane molecules

The high stability of the ionic cry'stals cannot explain their:
A) hardness CY€lectrical conductivity
B) low volatility D) high melting and boiling point

Which statement about the electrical conductivity of ionic solids s correct?
A) they conduct electricity in all states_
B) they conduct electricity only in liquid state

\ggpey conduct electricity only in solid state

they conduct electricity both in molten and solution state
58.5 a. m. u. of NaCl is called:

A) Atpmit mass C) molecular mass
M&Z mass D) both C and B

f the ionic crystals depends upon: v . .
I\;lges(:;l;tr;rgf?he crystal Y ) radius ratio of cations ad anions
B) brittleness of the crystal D) number of faces and corners

o - t
In NaCl crystal, the distance between nearest Cl- ions is 5.63%A, so the distance between neares
Na*"and Cl1 is:

) 2.8150A C) 1.872A
B) 5.63%A D) ;I.'10 A T
The number of CI- ions present around one Na* in NaCl crybs a :
A) oXidation number C) yalence t;1urm er
coordination number D) ion numbe

because:
NaCl and CsF have the same geometry
A) number of faces and corners in both cases are same
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45,

46.

47.

48.

49,

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

B) bottrhave same melting and boiling points o
radius ratio in both the cases is the same \""? .
D) same number of cations and anions in their crystal \

How many faces are present in each cubic unit cell? ‘

C) eight

A) four
D) ten

VB)/six
Which one of the following is also called atomic solids? '
A) ionic solids C) molecular solids

B) covalent solids D) none of these
Pressure cooker is used:

A) For safety purpose
B) To increase time for cooking meal

lC))go decrease boiling point of water by decreasing external pressure
To
(Y

increase boiling point of water by increasing external pressure
The covalent crystals having giant molecules like diamond and silicon carbide are:
A) soluble in all the solvents C) soluble in all the non-polar solvents only
B) insoluble in all the polar solvents soluble in all the solvents

W)h}}hof the following exerts the highest pressure.
¥1 mol of N2at 00C in 11.2 dm3

B) 1 mol of N2at 27.C in 22.4 dm3

C) 1 mol of H20 at 270C in 1 dm3

D) I mole of CaHio at its normal boiling poin

Which one of the following pairs contain polar molecular solids?

A) iodine and sugar C) phosphorus and carbon dioxide
B) carbon dioxide and ice ‘D)ﬁjgar and ice
Which one the following solids is soft and compressible?
A) ionic solids C) molecular solids
B) covalent solids D) metallic solids
lodine to iodine bond distance in solid jodine is:
A) 271.5 pm C) 227.4 pm
B) 246.3 pm 261.6 pm
‘Which of the following liquids has higher boili pqint?
A) Acetone (3( ) bQ)/Pzinol (%
B) Benzene Q&V D) Ethanol ‘€2
The ST unit of {a*Constant in van der Waal’s gas equation for real gases is:
g)’ﬁnr+4 mol? C) Nm* mol-~
) atm dmé mol* D) atm dm* mol-~
Which one of the following hydrogen bonds is stronger than others? 2015
A) N§™—Hs+.......... Ns"—Hs+ C) Os™—Hs-.......... Os—Hs+
Fs~—=Hs+.......... Fs~—Hs+ D) Ns—Hs+ .......... Os—Hs+

Gas is enclosed in a container of 20cms3 with the moving piston. According to kinetic theory of
gases, what will be the effect on freely moving molecules of the gas if temperature is increased from

200C to 100.C?
A) Pressure will become one half

B) Volume will increase
C) Temperature has no effect on freely moving molecules
D) Colliding capability of molecules will decrease

.
—

-
-~ 5
R

S

When large amount of heat is supplied to water in a beaker at constant latm. Pressure then.

A) Boiling point of water decreases

B) Betting point of water increases
. oiling point of water remains constant
) Boiling point of water first increases then decreases

Which one of the following does not have hydrogen bondix.lg?
A) Biological compounds C) Fopd materials

B) Paints and dyes ry ice
When water freezes at 0°C its density decreases due to:
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Pagen 3

¢ of bond angles

Al :
i SPACE present in the stryctyre of ic C) cubic structure of jce Pages s
ﬂb;vboi.ling point increase o € D) change of bong length
)10 _dipole forces € zero group elements due to:
'&)London forces C) hydrogen bonding '
D) dipole-dipole forces
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